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40.5 w1 SBPS mk 8 OW 1SS Oa 1BS 0b 10 Total wetland area= 1 + 6

2 SBPS mk 8 SL 4 18SL 5 18L 2 10

3 SBPS mk 8SL m 5 2SL m 2 10

4 SBPS mk 8 SL 1 28SL 3 10

5W 1.5 W3 SBPS mk 10 SS 0a 10

6 W (3.9) SBPS mk 10 BS Ob 10 Total wetland area= 1 + 6

7 SBPS mk 10SL m 4 10

8W 3.0 W3 SBPS mk 10 BS 0b 10

9 SBPS mk 6 SL 3 4SL m 1 10
10 SBPS mk 10 SK 4 10
1MW 1.2W3 SBPS mk 6 WF 0b 4 SK 4 10
12w 0.24 NC SBPS mk 10 OW 10
13 SBPS mk 10 SL 5 10
14 SBPS mk 8SL m 5 28SL 2 10
15 SBPS mk 10SL n 4 10
16 SBPS mk 10DL t 5 10
17W 1.37 (0.5) W3 SBPS mk 8 BW Oa 20w 10 Total wetland area = 17 + 18
18 W (0.87) SBPS mk 10 BS 0b 10 Total wetland area = 17 + 18
19W 0.7 NC SBPS mk 10 BS 0b 10
20 SBPS mk 6SL m 2 4SL m 1 10
21 SBPS mk 10 SL 5 10
2W 3.9wW3 SBPS mk 10 BS 0b 10
23 SBPS mk 10 SL 4 10
24 SBPS mk 10SL n 1 10
25 SBPS mk 10SL m 1 10
26 SBPS mk 10SL n 4 10
27 SBPS mk 10SL m 4 10
28W 7.8 W1 SBPS mk 10 DS 0b 10
29 SBPS mk 10 SL 4 10
30 SBPS mk 10SL m 2 10
31 SBPS mk 10 SL 4 10
32w 1.0 W3 SBPS mk 10 WF 0b 10
33W 0.6 NC SBPS mk 10 BW 0a 10
34 W 41.56 (6.0) W1 SBPS mk 10 WM 0a 10 Total wetland area= 34 + 35 + 36 + 37 + 38 + 41
35 W (0.8) SBPS mk 10 BW 0a 10 part of wetland 34/35/36/37/38/41
36 W (5.7) SBPS mk 9 OW 1CT 0a 10 part of wetland 34/35/36/37/38/41
37W (25.8) SBPS mk 10 BS 0b 10 part of wetland 34/35/36/37/38/41
38 W (0.96) SBPS mk 10 WM 0a 10 part of wetland 34/35/36/37/38/41
39 SBPS mk 10 SL 5 10
40 SBPS mk 9 SL 1 18SL 3 10
41 W (2.3) SBPS mk 10 WM 0a 10 part of wetland 34/35/36/37/38/41
42 SBPS mk 7 SK 2 3SL 2 10
43 W 29 W3 SBPS mk 6 BS 0b 4 8S 0a 10
44 W 0.27 NC SBPS mk 10 BW 0a 10
45 SBPS mk 6SL m 4 4SL m 3 10
46 SBPS mk 10 SL 1 10
47 W 0.5 NC SBPS mk 6 BS 0b 4 8S 0a 10
48 SBPS mk 7 SL 5 3SL 4 10
49 SBPS mk 10SL m 5 10
50 W 0.6 NC SBPS mk 10 WS 0a 10
51 SBPS mk 10SL m 5 10
52 W 5.8 W1 SBPS mk 10 WF 0b 10
53 SBPS mk 10 SL 5 10
54 W 0.85 NC SBPS mk 5BS 0b 5WsS 0a 10
55 W 0.81 NC SBPS mk 10 WS 0a 10
56 SBPS mk 10 SL 1 10
57 W 3.6 (1.7) W3 SBPS mk 10 BS 0b 10 Total wetland area= 57+58
58 W (1.9) SBPS mk 7DS 0b 3SL m 2 10 Total wetland area= 57+58
59 SBPS mk 10 SL 5 10
60 SBPS mk 10 SL 5 10
61 SBPS mk 10 SL 5 10
62 SBPS mk 5SL 1 5SL 3 10
63 W 7.9 (2.6) W1 SBPS mk 10 BS 0b 10 Total wetland area= 63+64
64 W (5.3) SBPS mk 10 WM Oa 10 Total wetland area= 63+64
65 W 1.65 W3 SBPS mk 10 BS 0b 10
66 W 0.13 NC SBPS mk 10 BW 0a 10
67 W 0.9 NC SBPS mk 10 OW 10
68 W 1.3 W3 SBPS mk 7 OW 3BW 0a 10




s g T8 £
o 2 s s 5 4 uwg E E - 5 3
° c 2 e Q= Ie) = 7 i N £ 2 ot
= s a = 3 = E = E ]
=8 = =T 0o BE2818 S3355 |8 5 FZFE| 8 53 FFE | O Notes
500 69 W 0.25 NC SBPS mk 10 BW Oa 10
500 70 SBPS mk 10 SL 5 10
500 71 SBPS mk 10SL m 5 10
500 72W 0.9 NC SBPS mk ow 2CT Oa 10
500 73W 2.7W3 SBPS mk 10 SS Oa 10
500 74 SBPS mk 10 SL 5 10
500 75 SBPS mk 10 SS Oa 10
555 1 IDF dk 3 5BS Oa 5RS Oa 10
555 2 IDF dk 3 7 DL 4 3DL 5 10
555 3 IDF dk 3 10 DL 4 10
555 4 IDF dk 3 7 DL 4 3DL 5 10
555 5 IDF dk 3 6 DL 3 4 DL 1 10
555 6 IDF dk 3 7 DL 4 3DL 5 10
555 7 IDF dk 3 10 SD 2 10
555 8 IDF dk 3 10 DL 4 10
555 9 IDF dk 3 10 SD 3 10
555 10 IDF dk 3 6 SL 4 2SL 5 2MS 0b 10
555 11 IDF dk 3 7 SD 4 38D 5 10
555 12 IDF dk 3 4 SL 4 4 RS Oa 2 BW Oa 10
555 13 IDF dk 3 10 DL 4 10
555 14 IDF dk 3 10DF n 4 10
555 15 IDF dk 3 10 SD 4 10
555 16 IDF dk 3 6 DL 4 4 DL 1 10
555 17 IDF dk 3 7 DL 4 3DL 2 10
555 18 IDF dk 3 5SL 4 58D 5 10
555 19 IDF dk 3 10 SD 4 10
555 20 IDF dk 3 7 DF 4 38D 3 10
555 21W 8.97 W1 IDF dk 3 4 MS 0b 30w 3SL 4 10
555 22 IDF dk 3 10 DL 3 10
555 23 IDF dk 3 10 DL 2 10
555 24 IDF dk 3 10 RS Oa 10
555 25 W 117.0 W1 IDF dk 3 4 OW 4 BW Oa 2MS 0b 10
555 26 IDF  dk 3 10 SD 4 10
556 TW 0.2NC SBPS mk 10 SS Oa 10
556 2w 0.2NC SBPS mk 10 SS Oa 10
556 3w 0.75 NC SBPS mk 10 SS Oa 10
556 4 SBPS mk 10 SL 1 10
556 5W 0.73 NC SBPS mk 10BS 0b 10
556 6W 0.3 NC SBPS mk 10 SS Oa 10
556 TW 0.85 NC SBPS mk 10BS 0b 10
556 8w 1.4 W3 SBPS mk 10BS 0b 10
556 IW 0.2NC SBPS mk 10 SS Oa 10
556 10 SBPS mk 10 SL 5 10
556 11 SBPS mk 10DF s 4 10
556 12 SBPS mk 10 DF 4 10
556 13 SBPS mk 10 DF 4 10
556 14 SBPS mk 7 SL 2 3SL 1 10
556 15 SBPS mk 4 SL 4 4 SL 2 2SL 5 10
556 16 SBPS mk 10 SL 1 10
556 101 SBS dw 1 10 SD 4 10
556 102 SBS dw 1 7 SD 4 38D 5 10
556 103 SBS dw 1 8 DL 5 2DL 4 10
556 104 SBS dw 1 4SD n 4 38D 5 3SD n 2 10
556 105W 8.7 (4.0) W1 SBS dw 1 10 SS Oa 10 Wetland area includes area of lake?
556 106 W (4.7) SBS dw 1 10LS 10 included in area of 10&
556 107 SBS dw 1 6 SL 4 4 SL 5 10
556 108 SBS dw 1 10 SD 4 10
556 109 SBS dw 1 8 SD 5 28D 2 10
556 110 W 0.9 NC SBS dw 1 10 WwW 0b 10
556 111 SBS dw 1 10 SL 5 10
556 112 SBS dw 1 10 SD 5 10
556 113 SBS dw 1 8 SD 4 2SD m 4 10
556 114 SBS dw 1 8SD n 4 28D 5 10
556 115 SBS dw 1 10 SD 4 10
556 116 SBS dw 1 7 SL 4 3SL 2 10
556 117 SBS dw 1 108D n 4 10
556 118 SBS dw 1 10 SD 4 10
556 119 SBS dw 1 10 SD 5 10
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120 SBS dw 1 7SD n 5 3SD n 4 10
121 SBS dw 1 6DL t 4 4DL t 5 10
122 SBS dw 1 10 DL | 4 10
123 SBS dw 1 10 SL 4 10
124 W 11.8 W1 SBS dw 1 7 WW 0b 3 0W 10
125 W 7.7 W1 SBS dw 1 10 DW Ob 10
126 SBS dw 1 10 SL n 2 10
127 SBS dw 1 10 SD 4 10
128 SBS dw 1 10 DL 4 10
1 IDF dk 3 5DF t 4 5DF n 4 10
2 IDF dk 3 5DL 4 3 DL 2 2DL 6 10
3 IDF dk 3 5DF n 4 5DF n 6 10
4 IDF dk 3 7 DL 4 3DF | 4 10
5 IDF dk 3 7DF n 4 3DF n 6 10
6 IDF dk 3 6 SD 6 4 DL 6 10
7 IDF dk 3 10 DL 2 10
8 IDF dk 3 10 DL 2 10
9 IDF dk 3 10 SD 4 10
10 IDF dk 3 6DF | 4 4 DL 4 10
11 IDF dk 3 10DF t 4 10
12 IDF dk 3 5SD 4 3SD 3 2 DL 4 10
13 W 0.3NC IDF dk 3 8 BW Oa 2RS Oa 10
14 IDF dk 3 5DL 4 5DL 2 10
1 IDF dk 3 10 DL c 4 10
2 IDF dk 3 10 CF 10
3 IDF dk 3 7 DL [ 2 3DL ¢ 4 10
4 W e WA IDF dk 3 6 SM Oa 3 SW 0Ob 10W 10
5 IDF dk 3 4 DL 2 4 DL 4 2 SD 2 10
6 IDF dk 3 7 DL 5 3SD 5 10
7 IDF dk 3 10DF n 4 10
8 IDF dk 3 6 DL 1 4 SD 1 10
9 IDF dk 3 7DF n 4 3DF s 4 10
10 IDF dk 3 10DF n 1 10
11 IDF dk 3 10DF n 4 10
12 IDF dk 3 10 DL 4 10
13 IDF dk 3 10 DL 1 10
14 IDF dk 3 10DF t 4 10
15W 1.53 W3 IDF dk 3 10 BS Oa 10
16 IDF dk 3 9 DL 4 1DL 1 10
17 IDF dk 3 10DF s 4 10
18 IDF dk 3 6 DL 1 4 SD 1 10
19 IDF dk 3 8 SK 4 2TS 0Ob 10
20 IDF dk 3 4 DL 4 4 DL 3 2 SD 3 10
21 IDF dk 3 10DF n 4 10
22 W 0.15NC IDF dk 3 6 RS Oa 4 OW 10
23 IDF dk 3 10DF t 4 10
24 IDF dk 3 6DF t 2 4DF s 4 10
25 IDF dk 3 8DF n 4 2DF n 2 10
26 IDF dk 3 6DF | s 4 4DF | s 2 10
27 IDF dk 3 10DF | 2 10
28 IDF dk 3 10 DL 4 10
29 W 0.9 NC IDF dk 3 10 SM Oa 10
30 IDF dk 3 8 DL 1 2DF s 1 10
31 IDF dk 3 6 DL 4 2DL 5 2 SD 5 10
32w 9.6 W1 IDF dk 3 7 BW Oa 3 MS 0Ob 10
33 SBPS mk 10 SL n 4 10
34 SBPS mk 7 SL 4 3SL 2 10
35 SBPS mk 10 SL n 2 10
36 SBPS mk 6 SL 4 4 SL 5 10
37 SBPS mk 10 SL 2 10
38 SBPS mk 7DF s 1 3SL 1 10
39 SBPS mk 8 SL 3 2 SL 4 10
40 SBPS mk 10 SK 4 10
41 SBPS mk 10 SL 1 10
42 SBPS mk 4 SL 4 4 SL 5 2 SL 2 10
1 SBS dw 1 10 SL 5 10
2W 0.15NC SBS dw 1 10 WB Oa 10
3w 0.72 NC SBS dw 1 7 WW 0b 3WB Oa 10
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559 4 SBS dw 1 7 DF t 2 3DL | 2 10
559 5 SBS dw 1 7 DF 2 3DF t 4 10
559 6 W 0.15NC SBS dw 1 10 WB Oa 10
559 7W 0.81 NC SBS dw 1 wWw 0b 3BS 0b PASSE Oa 10
559 8W 3.9wW3 SBS dw 1 7 WW 0b 3BS 0b 10
559 9 SBS dw 1 6 SK 4 4 SL 5 10
559 10 SBS dw 1 6 SD 2 4 SD 4 10
559 11 SBS dw 1 108D n 4 10
559 12 SBS dw 1 10 SD 2 10
559 101 SBS dw 1 10 DL 4 10
559 102 SBS dw 1 10DF s 4 10
559 103 SBS dw 1 8 DF 4 2DF t 5 10
559 104 SBS dw 1 8 SD 3 2SL 3 10
559 105 SBS dw 1 8 SD 5 2SL 4 10
559 106 SBS dw 1 8 SD 5 2SL 5 10
559 107 SBS dw 1 10 SD 5 10
559 108 SBS dw 1 10 SD 5 10
559 109 SBS dw 1 10 CF 10
559 110 SBS dw 1 108D n 4 10
559 111 SBS dw 1 10 DF 4 10
559 112 SBS dw 1 7 SD 4 38D 5 10
559 113 SBS dw 1 8DF s 4 2BG s Oa 10
559 114 SBS dw 1 10 CF 10
559 115 SBS dw 1 10 SL 5 10
559 116 SBS dw 1 6SD n 4 4SD n 3 10
559 117 SBS dw 1 10 SL 4 10
559 118 SBS dw 1 108D n 4 10
559 119 SBS dw 1 7 DF 4 3DF t 3 10
559 120 SBS dw 1 9 SL 4 1WB Oa 10
559 121 SBS dw 1 10 SL 5 10
559 122 SBS dw 1 10 DF 5 10
573 1 IDF dk 3 10 DL 4 10 transitional to SBPSmk
573 2 IDF dk 3 8 SD 2 28D 3 10 transitional to SBPSmk
573 3 IDF dk 3 10 SK 2 10 transitional to SBPSmk
573 4 IDF dk 3 10 SD 2 10 transitional to SBPSmk
573 5W 24.2 (9.9) W1 IDF dk 3 10 SW 0b 10 transitional to SBPSmk; total wetland area =5+ 7 + 1(
573 6 IDF dk 3 7 DL 4 3DL 2 10 transitional to SBPSmk
573 7W (7.1) IDF dk 3 6LS 0b 4LS 4 10 transitional to SBPSmk; total wetland area =5+ 7 + 1(
573 8 IDF dk 3 10 BS Oa 10 transitional to SBPSmk
573 9 IDF dk 3 10BS s Oa 10 transitional to SBPSmk
573 10w (7.2) IDF dk 3 10 MS 0b 10 transitional to SBPSmk; total wetland area =5+ 7 + 1(
573 11 IDF dk 3 10 SL 4 10 transitional to SBPSmk
573 12 IDF dk 3 8 DL 4 2DL 2 10 transitional to SBPSmk
573 13 IDF dk 3 10 DL 4 10 transitional to SBPSmk
573 14 IDF dk 3 7DF n 4 3DF n 1 10
573 15 IDF dk 3 10 SD 1 10
573 16 IDF dk 3 6 DL 1 4 DL 4 10
573 17 IDF dk 3 10 DL 4 10
573 18 IDF dk 3 10 DL 4 10
573 19W W1/W5 IDF dk 3 10TS 0b 10 Wetland is too long to digitize
573 20 IDF dk 3 10 SD 4 10
573 21 IDF dk 3 10 BS Oa 10
573 22 IDF dk 3 5DL 2 5DL 5 10
573 23 IDF dk 3 10 DL 1 10
573 24 IDF dk 3 10 DL 2 10
573 25 IDF dk 3 7 BS Oa 3DF t Oa 10
573 26 W W1/W5 IDF dk 3 10TS 0b 10 Wetland is too long to digitize
573 27 IDF dk 3 10 DF 4 10
573 28 IDF dk 3 10 SD 4 10
573 29 IDF dk 3 5DL 4 5DL 1 10
573 30 IDF dk 3 10 SD 1 10
573 31TW W1/W5 IDF dk 3 10 MS 0b 10 Wetland is too long to digitize
573 32 IDF dk 3 10 SD 1 10
573 33 IDF dk 3 6 DL 2 4 DL 4 10
573 34 IDF dk 3 6 DL 4 4 DL 2 10
573 35 IDF dk 3 10 DL 1 10
573 36 IDF dk 3 10 DL 1 10
573 37 IDF dk 3 10 DL 5 10
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573 38 IDF dk 3 7DF s 4 3DF t 4 10
573 39 IDF dk 3 10DF n 4 10
573 40 IDF dk 3 10 DL 1 10
573 41 IDF dk 3 10 DL 4 10
573 42 IDF dk 3 10DF n 4 10
573 43 IDF dk 3 10SD n 4 10
573 44 IDF dk 3 10 DL 4 10
573 45 IDF dk 3 10DF n 4 10
573 46 IDF dk 3 7DF t 4 3DF t 2 10
573 47 IDF dk 3 10 DL 3 10
573 48 IDF dk 3 9DF s 4 1BS s Oa 10
573 49 IDF dk 3 10 DL 4 10
573 50 IDF dk 3 10 DL 4 10
573 51 IDF dk 3 10 DL 4 10
574 1 IDF dk 3 10 DL 4 10
574 2 IDF dk 3 6 DL 4 2DL 1 2DL 3 10
574 3 IDF dk 3 8 DL 4 2DL 2 10
574 4 IDF dk 3 7 DL 1 3 DL 2 10
574 5W 40.3 W1 IDF dk 3 9 WM Oa 10W 10
574 6W 103.0 w1 IDF dk 3 6 BW Oa 4 OW 10
574 W 5.2 W1 IDF dk 3 6 BW Oa 20w 2BU Oa 10
574 8 IDF dk 3 10 DL 2 10
574 9 IDF dk 3 10 SD 5 10
574 10W 38.0 W1 IDF dk 3 8 OW 1CT Oa 1BU Oa 10
574 11 IDF dk 3 10DF n 4 10
575 1 SBS dw 1 10SD n 4 10
575 2 SBS dw 1 10 SL 5 10
575 3w 0.3NC SBS dw 1 7 OW 3CT Oa 10
575 4 SBS dw 1 48D | 4 4 SD 4 2 SD 5 10
575 5 SBS dw 1 7 SL 4 3SL 5 10
575 6W 1.6 W3 SBS dw 1 10 BS 0Ob 10
575 W 2.53 W3 SBS dw 1 5BS 0Ob 5WW 0b 10
575 8 SBS dw 1 10 SD 5 10
575 9 SBS dw 1 8 SL 2 2 SF 2 10
575 10 SBS dw 1 6 SD 5 4 SD 3 10
575 11 SBS dw 1 10SD n 4 10
575 12 SBS dw 1 10 DL | 5 10
575 13 SBS dw 1 10 DL | 5 10
575 14 SBS dw 1 10SD t 4 10
575 15 SBS dw 1 4 SL 2 4 SD 2 2 SL 4 10
575 16 W 0.2 NC SBS dw 1 10 WB Oa 10
575 17 SBS dw 1 10 DL | 4 10
575 18 SBS dw 1 7SD n 4 3SD n 2 10
575 19 SBS dw 1 6 DL | 2 4DL | 4 10
575 20 SBS dw 1 7DF s 4 3DF s 2 10
575 21 SBS dw 1 10 SD 6 10
575 22 SBS dw 1 6 SD 4 2SD 3 2 SD 5 10
575 23 SBS dw 1 10 SD 5 10
575 24 SBS dw 1 6 SL 4 4 SF 4 10
575 25 SBS dw 1 10 SD 4 10
575 26 W 1.4 W3 SBS dw 1 10 WW 0Ob 10
575 27 SBS dw 1 10SD n 4 10
575 28 SBS dw 1 10DF s 4 10
575 29 SBS dw 1 10DF s 4 10
575 30 SBS dw 1 5SD n 4 5SD n 2 10
575 31 SBS dw 1 6 SD 4 4 SD 3 10
575 32 SBS dw 1 10 DL | 4 10
575 33 SBS dw 1 10SD n 4 10
575 34 SBS dw 1 10DF s 4 10
575 35 SBS dw 1 10 SD 2 10
575 36 SBS dw 1 10SD t 2 10
577 1 IDF dk 3 7 DL 4 3 DL 2 10
577 2 IDF dk 3 6 SD 4 2SD 2 2DL 4 10
577 3w 0.1 NC IDF dk 3 5BU Oa 5CT Oa 10
577 4 IDF dk 3 10 SD 4 10
577 5W 0.18 NC IDF dk 3 6 BW Oa 4 MS 0Ob 10
577 6W bl IDF dk 3 7 OW 3 BW Oa 10 Total wetland area = 6+7
577 7W bl IDF dk 3 7 WB Oa 3 MS 0Ob 10
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577 ) IDF dk 3 10 DL 2 10
577 9w 1.0 W3 IDF dk 3 8 OW 2BW Oa 10
577 10 IDF dk 3 10 DL 2 10
577 11 IDF dk 3 SD 1 38D 2 10
577 12 IDF dk 3 10 AF Oa 10
577 13 IDF dk 3 7 DL 2 3DL 1 10
577 14 W 0.23 NC IDF dk 3 10 BU Oa 10
577 15 IDF dk 3 8 DL 4 2DL 2 10
577 16 IDF dk 3 10 CF Oa 10
577 17 IDF dk 3 7 DL 2 3DL 1 10
577 18 IDF dk 3 10 DL 1 10
577 19 IDF dk 3 7DF n 4 3DL n 4 10
577 20 IDF dk 3 7 SD 4 38D 5 10
577 21 IDF dk 3 10FD t 4 10
577 22W 0.9 NC IDF dk 3 6 BU Oa 2 OW 2MS 0b 10
577 23 W 4.9 W3 IDF dk 3 9 SM Oa 1Ms 0b 10
577 24 IDF dk 3 58D 4 38D 2 2DL 2 10
577 25 W 0.36 NC IDF dk 3 8 OW 2BW Oa 10
577 26 IDF dk 3 10 DL 2 10
577 2TW 15.1 (7.1) W1 IDF dk 3 8 OW 2BW Oa 10 Total wetland area = 27+28+2¢
577 28 W (5.3) IDF dk 3 8 WB Oa 2 MS 0b 10
577 29 W (2.7) IDF  dk 3 8 OW 2 MS 0b 10
580 TW i SBPS mk 6 CT Oa 4 OW 10
580 2w ol SBPS mk 10 WS Oa 10
580 3 SBPS mk 8 SL 3 2 SK 3 10
580 4 SBPS mk 6SL n 6 2SL n 5 2SL n 4 10
580 5 SBPS mk 7 SL 3 3 SK 3 10
580 6 SBPS mk 4 SL 5 3SL 4 3SL 6 10
580 7 SBPS mk 6 SL 5 4 SK 2 10
580 8 SBPS mk 8 SL 4 2SL 5 10
580 9w 0.18 NC SBPS mk 10 BW Oa 10
580 10 SBPS mk 10SL n 4 10
580 11 SBPS mk 10 SK 5 10
580 12 SBPS mk 10 SL 2 10
580 183 W 30.0 (2.0) W1 SBPS mk 10CT Oa 10 Total wetland area = 13 + outline of 14
580 14 W (14.5) SBPS mk 10 SS Oa 10 see 13
580 15W (13.5) SBPS mk 10LS 10 see 13
580 16W 4.6 W3 SBPS mk 6 BS 0b 4 WS Oa 10
580 17 W 10.8 W1 SBPS mk 7 WF 0b 2BS 0b 10W 10
580 18 SBPS mk 58SL 4 3SL 6 2SL 3 10
580 19 SBPS mk 6 SK 2 4 SL 4 10
580 20W 0.5 NC SBPS mk 10 WF 0b 10
580 21 SBPS mk 6 SL 2 4 SL 1 10
580 22W 4.7 W3 SBPS mk 5 WF 0b 3BS 0b 2WSs Oa 10
580 23 SBPS mk 58SL 4 3SL 5 2 SK 4 10
580 24 W 0.12NC SBPS mk 10CT Oa 10
580 25 SBPS mk 10SL m 4 10
580 26 SBPS mk 4 SL 4 3 SL 5 3 SL 6 10
581 1 SBPS mk 8 SL 4 2SL 2 10
581 2w 12.7 W1 SBPS mk 4SS Oa 4 BS 0b 20w 10
581 3 SBPS mk 5SL m 4 3SL m 5 2 SK 4 10
581 4 W 3.9W3 SBPS mk 6 OW 4 BW Oa 10
581 5 SBPS mk 10 SL 4 10
581 6W 0.13NC SBPS mk 10CT Oa 10
581 7 SBPS mk 10DL | t 4 10
581 8w 0.3 NC SBPS mk 10CT Oa 10
581 9 SBPS mk 10 SL 1 10
581 10 SBPS mk 6 SL 4 2SL 5 2SL 2 10
581 11 SBPS mk 10 SL 5 10
581 12 SBPS mk 10 SL 4 10
581 13 SBPS mk 10 SL 1 10
581 14 W 12.4 W1 SBPS mk 7 WF 0b 2BS 0b 10W 10
581 15W 1.4 W3 SBPS mk 6 BS 0b 4 WF 0b 10
581 16 SBPS mk 4 SK 2 4 SL 2 2SL 3 10
581 17 SBPS mk 8 SL 1 2SL 2 10
581 18W 0.85 NC SBPS mk 10 BS 0b 10
581 19 SBPS mk 9 SL 1 18L 2 10
581 20 SBPS mk 4SL m 2 4SL m 1 2 SK 2 10
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581 21W 1.96 W. SBPS mk 10 BS Ob 10
581 22 SBPS mk 10 SL 1 10
581 23 SBPS mk 4 SL 1 4 SK 2 2 DS Ob 10
581 24 SBPS mk SL n 1 5SL 2 10
581 25 SBPS mk 10 SL 1 10
581 26 SBPS mk 10 SL 1 10
581 27 SBPS mk 9 SL 2 1SL 5 10
581 28 SBPS mk 10 SL 2 10
581 29 SBPS mk 10DF s 2 10
581 30 SBPS mk 4 SL 4 3SL 3 3SL 2 10
581 31 SBPS mk 7 SL n 2 3 SL 3 10
581 32 SBPS mk 10 SL 2 10
581 33 SBPS mk 6 SL 1 4 SL 2 10
581 34 SBPS mk 5 SK 1 4SL m 2 1SL m 1 10
581 35W 4.6 W3 SBPS mk 10 BS Ob 10
581 36 SBPS mk 10 SL 1 10
581 37 SBPS mk 6DF s 5 4 DF 4 10
581 38W 1.9 W3 SBPS mk 7 BS Ob 3SS Oa 10
581 39wW 0.2 NC SBPS mk 10 SS Oa 10
810 1TW R SBPS mk 10 BW Oa 10
810 2W bl SBPS mk 10 BW Oa 10
810 3w bl SBPS mk 8 BW Oa 2 WF Ob 10
810 4 SBPS mk 7 SL 4 3 SL 5 10
810 5W Fex SBPS mk 10 BW Oa 10
810 6W 0.2 NC SBPS mk 6 OW 4 BW Oa 10
810 7W 2.4 W3 SBPS mk 8 WS Oa 2BS Ob 10
810 8W 0.3 NC SBPS mk 5BW Oa 50W 10
810 9w 1.86 W3 SBPS mk 5BW Oa 5 WF Ob 10
810 10W 1.1 W3 SBPS mk 6 BW Oa 20w 2 SL 2 10
810 11W 0.2 NC SBPS mk 10 BW Oa 10
810 12 W 3.7W3 SBPS mk 10 BS Ob 10
810 13 W 0.34 NC SBPS mk 10 BW Oa 10
810 14 SBPS mk 10 SL 1 10
810 15 W 0.23 NC SBPS mk 8 OW 2 BW Oa 10
810 16 W 0.26 NC SBPS mk 5WS Oa 5BS Ob 10
810 17 SBPS mk 10 DL 4 10
810 18 SBPS mk 10 CF 10
810 19W 249.0 W1 SBPS mk 4 BS Ob 4 WS Oa 2 OW 10
810 20W 1.13 W3 SBPS mk 5WS Oa 5BS Ob 10
810 21W 0.65 NC SBPS mk 10 BW Oa 10
810 22 SBPS mk 10 SL 2 10
810 23 SBPS mk 8 SL 1 2SL 2 10
810 24 SBPS mk 4 SL 2 4 SL 1 2 SL 3 10
810 25W bl SBPS mk 10 BS Ob 10
810 26 W bl SBPS mk 10 BS Ob 10
810 27 SBPS mk 6 SL 3 4 SL 2 10
810 28 SBPS mk 4 SL 2 3 SL 3 3SL 1 10
812 1TW 0.25 NC IDF dk 3 10 BW Oa 10
812 2 IDF dk 3 6 DL 1 4 DL 3 10
812 3w 4.6 W3 IDF dk 3 6 LS Ob 4 SW Ob 10
812 4 IDF dk 3 10 SD 4 10
812 5 IDF dk 3 7 DL 2 3DL 1 10
812 6 IDF dk 3 7 SD 4 3 SD 5 10
812 7W 0.6 NC IDF dk 3 5BW Oa 5CT Oa 10
812 8 IDF dk 3 6 DL 4 3DL 3 1DL 4 10
812 9 IDF dk 3 6 DL 2 4 DL 3 10
812 10 IDF dk 3 10 DL 3 10
812 11W 10.0 W1 IDF dk 3 10 BW Oa 10
812 12 IDF dk 3 8 SD 5 2CT Oa 10
812 13 IDF dk 3 10 DL 5 10
812 14 W 0.6 NC IDF dk 3 10 CT Oa 10
812 15 IDF dk 3 6 SD 4 4 SD 2 10
812 16 W 1.1 W3 IDF dk 3 10 BW Oa 10
812 17 IDF dk 3 10 DL 3 10
813 1 IDF dk 3 10 DL 5 10
813 2 IDF dk 3 10 SL 5 10
813 3 IDF dk 3 10 DL 2 10
813 4 IDF dk 3 10 DL 5 10
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813 5 IDF dk 3 10 SL 4 10
813 6 IDF dk 3 5DL 4 5DL 5 10
813 7 IDF dk 3 8 DL 4 2DL 3 10
813 8W 2.0 W3 IDF dk 3 BW Oa CT Oa 10
813 IW 5.1 W1 IDF dk 3 5 BW Oa 4 MS 0b 10W 10
813 10 IDF dk 3 10DL n 5 10
813 11 IDF dk 3 9 DL 4 1RS Oa 10
813 12 IDF dk 3 10DL n 4 10
813 13 IDF dk 3 10DF t 4 10
813 14 IDF dk 3 10DF | n 4 10
813 15 IDF dk 3 10DF | s 4 10
813 16 IDF dk 3 8 DL 5 2SL 5 10
813 17 W 0.45 NC IDF dk 3 10 MS 0b 10
813 18 IDF dk 3 10 DL 4 10
813 19 IDF dk 3 10 DL 3 10
813 20 IDF dk 3 9 CF 0b 1DL 3 10
813 21 IDF dk 3 10 RS 0a 10
813 22 IDF dk 3 10 DL 3 10
813 23 IDF dk 3 8 RS Oa 10W 1TS 0b 10
813 24 IDF  dk 3 10 RS Oa 10
1425 1 SBPS mk 10 SK 2 10
1425 2 SBPS mk 10 SL 5 10
1425 3 SBPS mk 10 SL 2 10
1425 4 SBPS mk 10 SL 4 10
1425 5 SBPS mk 10SL m 5 10
1425 6W 0.5 NC SBPS mk 8 BW Oa 2 OW 10
1425 TW 3.7W3 SBPS mk 10 SS Oa 10
1425 8 SBPS mk 6SL m 4 3 SK 2 1BW Oa 10
1425 9 SBPS mk 10SL n 4 10
1425 10 SBPS mk 10DL t 2 10
1425 11 SBPS mk 8 SL 2 2SL 4 10
1425 12 SBPS mk 10SL n 4 10
1425 13 SBPS mk 10 SL 4 10
1425 14 W 1.1 W3 SBPS mk 10 BW Oa 10
1425 15W 0.95 NC SBPS mk 10 SS Oa 10
1425 16 SBPS mk 8 SL 1 2SL 3 10
1425 17 SBPS mk 10 SK 2 10
1425 18 SBPS mk 10SL m 4 10
1425 19 SBPS mk 7 SL 5 3SL m 4 10
1425 20 SBPS mk 10 SL 3 10
1425 21 SBPS mk 8 SL 4 2SL 2 10
1425 22 SBPS mk 7SL m 4 3SL m 5 10
1425 23 W 1.2wW3 SBPS mk 10 BW Oa 10
1425 24 W 0.67 NC SBPS mk 10 BW Oa 10
1425 25 W 0.5 NC SBPS mk 10 BW Oa 10
1425 26 SBPS mk 10 SK 4 10
1425 2TW 1.46 W3 SBPS mk 10 SS Oa 10
1425 28 SBPS mk 6 SL 5 4 SL 4 10
1425 29 SBPS mk 5SL m 4 5SL m 5 10
1425 30w 1.74 W3 SBPS mk 7SS Oa 3 SK 4 10
1425 31w 22W3 SBPS mk 10 SS Oa 10
1425 32 SBPS mk 10 SL 5 10
1425 33 SBPS mk 10DL t 3 10
1425 34 SBPS mk 10 SL 2 10
1426 TW 7.8 W1 SBPS mk 8 DS Ob 2 OW 10
1426 2 SBPS mk 10 SL 5 10
1426 3 SBPS mk 10 CF 10
1426 4W 3.45 W3 SBPS mk 6 BW Oa 4 WF 0b 10
1426 5W 8.0 (4.2) W1 SBPS mk 10 BW Oa 10 Total wetland area =5 + €
1426 6W (3.8) SBPS mk 8 OW 2CT Ob 10
1426 TW 0.3 NC SBPS mk 10 OW 10
1426 8 SBPS mk 5SL 4 5SL 5 10
1426 IW 1.0 W3 SBPS mk 10 WF 0b 10
1426 now 0.86 NC SBPS mk 10 BW Oa 10
1426 11w 0.7 NC SBPS mk 10 WF 0b 10
1426 12w 21.5 (2.1) W1 SBPS mk 8 WF 0b 2BW Oa 10 area of 12 and 15 should be considered togethel
1426 13 SBPS mk 10 SL 5 10
1426 14 W 2.35 W3 SBPS mk 7 WF 0b 3CT Oa 10
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15W (19.4) SBPS mk 5BS Ob 3 0W 2SS Oa 10 see 12
16 W (51.4) SBPS mk 10 WM Oa 10 see 21
4.2 W3 SBPS mk 50W 5CT Oa 10 see 21
SBPS mk 10 SL 5
1.33 W3 SBPS mk 5CT Oa 50W 10 see 21
SBPS mk 10 SL 1 10
56.7 (37.0) W1/W5 SBPS mk 10LS 10 Total wetland area = 21+16+23+24+2%
SBPS mk 10 SL 5 10
(2.2) SBPS mk 6 SS Oa 4 BS Ob 10 see 21
(12.5) SBPS mk 6 SS Oa 2BS Ob 2 OW 10 see 21
(5.0) SBPS mk 7BS Ob 3 0W 10 see 21
SBPS mk 10 GP 10
SBPS mk 10DL ¢ 4 10
SBPS mk 6 SL 5 4 SL 4 10
SBPS mk 8SL m 5 2 BW Oa 10
0.6 NC SBPS mk 10 WS Oa 10
21 W3 SBPS mk 5BS Ob 38S Oa 2SL m 4 10
1.6 W3 SBPS mk 6 BS Ob 4 SS Oa 10
1.4 W3 SBPS mk 8 SS Oa 2 WF Ob 10
3.7(1.2) W3 SBPS mk 10 OW 10 includes 35
(2.5) SBPS mk 8 SS Oa 2 WF Ob 10 see 34
3.6 W3 SBPS mk 10 BS Ob 10
SBPS mk 10SL m 5 10
1.0 W3 SBPS mk 10 BS Ob 10
SBPS mk 7SL m 5 3 SK 4 10
3.64 W3 SBPS mk 6 OW 3BS Ob 1CT Oa 10
0.6 NC SBPS mk 10 CT Oa 10
116.5 W1 SBPS mk 6 WM Oa 20w 2 BS Ob 10
SBPS mk 6SL m 5 4 SK 4 10
1.7 W3 SBPS mk 10 BS Ob 10
0.3NC SBPS mk 10 SS Oa 10
0.13 NC SBPS mk 10 SS Oa 10
SBPS mk 10 SK 5 10
23 W3 SBPS mk 10 BS Ob 10
SBPS mk 10 SL 4 10
SBPS mk 10 SL 5 10
IDF dk 3 5DF s 2 5DF s 3 10
IDF dk 3 10 BS Oa 10
IDF dk 3 10DF n 3 10
IDF dk 3 10 BS Oa 10
IDF dk 3 10 DL 4 10
IDF dk 3 7 SD 4 3DL 4 10
IDF dk 3 10DF n 4 10
IDF dk 3 10 DL 2 10
IDF dk 3 7 DL 2 3DL 4 10
IDF dk 3 10 DL 2 10
IDF dk 3 6 DL 6 4 DL 4 10
IDF dk 3 10 SD 4 10
IDF dk 3 8BS s Oa 2DF s 3 10
IDF dk 3 10 DL 1 10
IDF dk 3 10 BS Oa 10
IDF dk 3 10 AC 3 10
IDF dk 3 10 DL 4 10
IDF dk 3 10 DL 4 10
IDF dk 3 6BS s Oa 4DF | 2 10
IDF dk 3 10 DL 2 10
IDF dk 3 10DF s 4 10
IDF dk 3 6DF | n 4 4DF | s 4 10
IDF dk 3 8DF | 2 1RO 1BS | Oa 10
IDF dk 3 10DF n 4 10
IDF dk 3 10 DL 4 10
IDF xm 10 DF 4 10
IDF xm 10 SK 5 10
IDF xm 10DF n 4 10
IDF xm 10DF s 4 10
IDF xm 6 SD 1 4 SD 4 10
IDF xm 6 SD 4 4 SD 5 10
IDF xm 10DF n 4 10
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113 IDF xm 5DF | s 4 5DF | n 4 10
114 IDF xm 10DF | n 4 10
115 IDF xm 8DF | n 1 1DF | s 1 1 RO 10
116 IDF xm 10 DF 4 10
117 IDF xm 6DF n 4 4DF n 1 10
118 IDF xm 10 SK 5 10
119W 17.5 W1 IDF xm 9TS 0b 10W 10
120 IDF xm 10 SD 4 10
121 IDF xm 10DF n 4 10
122 IDF xm 10 DF 4 10
123 IDF xm 10 BS Oa 10
124 IDF xm 10DF s 4 10
125 IDF xm 10 SD 5 10
126 IDF xm 10DF s 4 10
TW 13.6 W1 IDF dk 3 7 OW 3 MS 0Ob 10
2 IDF dk 3 4 DL 4 3DF ¢ 4 3DL 2 10
3w 6.6 W1 IDF dk 3 4 OW 4 MS Ob 2CT Oa 10
4 W 1.5W3 IDF dk 3 5BU Oa 3CT Oa 2 OW 10
5W 1.48 W3 IDF dk 3 8 BS Oa 20w 10
6 IDF dk 3 10DF ¢ 4 10
7 IDF dk 3 10 SD 5 10
8w 1.2 W3 IDF dk 3 5 SM Oa 5MS 0Ob 10
9w 0.15NC IDF dk 3 10 BW Oa 10
10w 0.7 NC IDF dk 3 10 MS Ob 10
11 IDF dk 3 8 SD 4 2 SK 4 10
12 IDF dk 3 10 SL 3 10
13 IDF dk 3 10 SL 4 10
14 IDF dk 3 6 SL 4 4 SL 3 10
15 IDF dk 3 10DF n 4 10
16 IDF dk 3 8DF n 2 2DF n 4 10
17 IDF dk 3 10DF t 4 10
18 IDF dk 3 8DF | 4 2DF | 2 10
19 W 0.5NC IDF dk 3 6 BW Oa 4 SK 4 10
20 IDF dk 3 10DF | 1 10
21 IDF dk 3 10 DL 1 10
22 W 5.8 W1 IDF dk 3 6 BW Oa 3 MS 0b 10W 10
23 IDF dk 3 7 SD 4 3 SK 4 10
24 W 0.3NC IDF dk 3 50W 5 SK 5 10
25W 0.24 NC IDF dk 3 8 SK 2 2 BW Oa 10
26 W 0.6 NC IDF dk 3 10 MS Ob 10
27 IDF dk 3 7 DL 1 3 DL 2 10
TW 4.0 W3 SBS dw 1 4 SK 4 4 SS Oa 2 OW 10
2 SBS dw 1 10 SF 5 10
3 SBS dw 1 7 SD 5 3SD 2 10
4 SBS dw 1 10 SF 5 10
5W 2.0W3 SBS dw 1 8BS 0Ob 2 WW 0b 10
6 SBS dw 1 5 SF 5 5SL 5 10
W 5.8 W1 SBS dw 1 10 WW 0Ob 10
8w 0.4 NC SBS dw 1 10 OW 10
9 SBS dw 1 10 SD 5 10
10w 2.0 NC SBS dw 1 10 WW 0Ob 10
11 SBS dw 1 10 SD 4 10
12 IDF mw 2 10 RD 5 10
13 IDF mw 2 10RD n 4 10
14 IDF mw 2 10DF | 4 10
15 IDF mw 2 10DF s 4 10
16 IDF mw 2 10 RD 5 10
17 IDF mw 2 7 RD 4 3RD m 5 10
18 ICH mk 3 5RB 1 5RB 3 10
19 ICH mk 3 10RB n 1 10
20w 0.3NC ICH mk 3 10 OW 10
21 ICH mk 3 10 RB 5 10
22 ICH mk 3 10CR ¢ 5 10
23 IDF mw 2 1I0RD m 4 10
24 IDF mw 2 10 RD 5 10
25 IDF mw 2 10RD m 5 10
26 IDF mw 2 10RD n 4 10
27TW 23.8 W1 IDF mw 2 7 FE Oa 2 SH Ob 10W 10
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1487 28 SBS dw 1 1M0WR ¢ 5 10

1487 29 SBS dw 1 108D n 5 10

1487 30 SBS dw 1 10 SD 5 10

1487 31 SBS dw 1 10 SD 5 10

1487 32 SBS dw 1 10 CF 10

1487 33 W 0.44 NC SBS dw 1 10CT Oa 10

1487 34 W 0.9 NC SBS dw 1 10CT Oa 10

1487 35 SBS dw 1 10 SD 1 10

1487 36 W 0.8 NC SBS dw 1 10CT Oa 10

1487 37 SBS dw 1 5 SD 1 5 SD 3 10

1487 38 SBS dw 1 10 SD 5 10

1487 39 SBS dw 1 10 DL c 4 10

1487 40 SBS dw 1 10 SK 5 10

1487 41 SBS dw 1 10 SD 4 10

1487 42 SBS dw 1 10 SK 2 10

1487 43 SBS dw 1 10 SK 5 10

1487 44 SBS dw 1 108D n 5 10

1487 45 SBS dw 1 108D n 2 10

1487 46 SBS dw 1 6DF s 5 4DF s 2 10

1487 47 SBS dw 1 10 SL 5 10

1487 48 SBS dw 1 108D t 4 10

1487 49 SBS dw 1 108D n 5 10

1487 50 SBS dw 1 10 SK 4 10

1487 51 SBS dw 1 10 SF 5 10

1487 52W 0.9 NC SBS dw 1 10 WW 0Ob 10

1487 53 SBS dw 1 108D n 5 10

1487 54 SBS dw 1 10 SF 4 10

1488SchA 1 IDF dk 3 10 DL 4 10

1488SchA 2 IDF dk 3 10 DL 2 10

1488SchA 3 IDF dk 3 10 DL 5 10

1488SchA 4 IDF dk 3 10 DL 5 10

1488SchB 5 IDF dk 3 9DF s 4 1BS s Oa 10

1488SchB 6 IDF dk 3 7 SD 3 3DL 3 10

1488SchB 7 IDF dk 3 10 DL 4 10

1488SchB 8 IDF dk 3 8DF s 4 2BS s Oa 10

1488SchB 9 IDF dk 3 6 SD 3 4DF n 2 10

1488SchB 10w 0.6 (0.3) NC IDF dk 3 10 BW Oa 10 total wetland area = 10 +11 + 22

1488SchB 11W (0.13) IDF dk 3 10 BW Oa 10 see 10

1488SchB 12 IDF dk 3 10 SD 3 10

1488SchB 13 W 0.12 NC IDF dk 3 10 BW Oa 10

1488SchB 14 W 0.6 NC IDF dk 3 5MS 0Ob 5 BW Oa 10

1488SchB 15W 0.07 NC IDF dk 3 10 BW Oa 10

1488SchB 16 W 0.07 NC IDF dk 3 10 BW Oa 10

1488SchB 17 W 0.23 NC IDF dk 3 5MS Ob 5BW Oa 10

1488SchB 18 W 0.1 NC IDF dk 3 10 BW Oa 10

1488SchB 19W 0.7 NC IDF dk 3 10 OW 10

1488SchB 20 IDF dk 3 10 SD 4 10

1488SchB 21 IDF dk 3 10 DL 4 10
1488SchB 22 W (0.14) IDF dk 3 10 TS Ob 10 see 10

1488SchB 23 IDF dk 3 4 DL 4 3DL 5 3 DL 2 10

1488SchB 24 IDF dk 3 7 DL 4 3DL 5 10

1488SchB 25 IDF dk 3 10 DL 2 10

1488SchB 26 IDF dk 3 7 DL 4 3DL 2 10

1488SchB 27 IDF dk 3 10DF t 4 10

1489 1 IDF dk 3 6 SD 3 4 DL 4 10

1489 2 IDF dk 3 8DF s 4 2BS s Oa 10

1489 3 IDF dk 3 9DF s 4 1BS s Oa 10

1489 4 IDF dk 3 6 DL 2 4 DL 1 10

1489 5 IDF dk 3 4DF s 4 4DF n 4 2 SD 4 10

1489 6 IDF dk 3 7 DL 4 3DL 5 10

1489 7 IDF dk 3 10 DL 3 10

1489 8 IDF dk 3 10 DL 2 10

1489 9 IDF dk 3 6 DL 2 4 DL 4 10

1489 10 IDF dk 3 8 DL 2 2DL 3 10

1489 11 IDF dk 3 8 SD 4 2SD 5 10

1489 12 IDF dk 3 10 DL n 4 10

1492 1 IDF dk 3 6 DL 2 4 DL 4 10

1492 2 IDF dk 3 10 DL 2 10




s g T8 z
o 2 s s 5 4 uwg E E - 5 3
° c 2 e Q= Ie) = 7 i N £ 2 ot
= s a = ] = E = E ]
= 8 = 2T B0 68388 SF3F55 |8 5 3 355)| & 5 F 5 gy | O Noes

1492 3 IDF  dk 3 9 DL 1 1DL 2 10
1492 4w (6.6) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 5W 185.64 (5.0) W1 IDF dk 3 10 WM Oa 10 Total wetland area = outline of 4+5+8+9+10+14+15+16+19+20+27+28+30+31+35+3|
1492 6 IDF dk 3 8 DL 1 28D 2 10
1492 7 IDF dk 3 10 SD 2 10
1492 8W (3.1) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 9w (2.4) IDF dk 3 10 WM Oa 10 part of bigger wetland (see 5)
1492 10w (74.0) IDF dk 3 4 MS 0b 4 WB Oa 2 SwW 0b 10 part of bigger wetland (see 5)
1492 11 IDF dk 3 10 DL 3 10
1492 12 IDF dk 3 6 SD 1 4 DL 1 10
1492 13 IDF dk 3 6 DL 3 4 SD 3 10
1492 14 W (25.5) IDF dk 3 7 WM Oa 2SM Oa 10w 10 part of bigger wetland (see 5)
1492 15W (2.3) IDF dk 3 9RS Oa 18D 2 10 part of bigger wetland (see 5)
1492 16W (10.6) IDF dk 3 10 WM Oa 10 part of bigger wetland (see 5)
1492 17 IDF dk 3 5DL 3 58D 3 10
1492 18 IDF dk 3 10 SD 3 10
1492 19W (5.2) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 20w (4.3) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 21 IDF dk 3 7 DL 3 38D 3 10
1492 22 IDF dk 3 6 SD 5 4 SD 3 10
1492 23W 4.9 (3.1) W3 IDF dk 3 7 BW Oa 3 MS 0b 10 total wetland area = 23 + 2
1492 24 IDF dk 3 8 DL 1 1DL 2 1DL 3 10
1492 25W (1.8) IDF dk 3 4CT Oa 4 BW Oa 20w 10 see 23
1492 26 IDF dk 3 58D 3 5DL 3 10
1492 2TW (8.3) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 28W (14.9) IDF dk 3 10 WM Oa 10 part of bigger wetland (see 5)
1492 29 IDF dk 3 6 DL 2 2DL 4 2sD 2 10
1492 30w (7.2) IDF dk 3 4 BW Oa 4CT Oa 2 MS 0b 10 part of bigger wetland (see 5)
1492 31W (0.24) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 32 IDF dk 3 8 DL 4 28D 4 10
1492 33W 0.23 NC IDF dk 3 7RS Oa 3 BW Oa 10
1492 34 IDF dk 3 6 DL 1 4 DL 3 10
1492 3B/BW (5.3) IDF dk 3 10 OW 10 part of bigger wetland (see 5)
1492 36 W (10.7) IDF dk 3 6 BW Oa 3 MS 0b 1CT Oa 10 part of bigger wetland (see 5)
1492 37 IDF dk 3 6 DL 1 3DL 3 18D 3 10
1492 38 W 0.6 NC IDF dk 3 8CT Oa 2BU Oa 10
1492 39W 0.22 NC IDF dk 3 10 BW Oa 10
1492 40W 0.7 NC IDF dk 3 7CT Oa 30w 10
1492 41W 0.37 NC IDF dk 3 6 BW Oa 4 OW 10
1492 42 IDF dk 3 10 DL 2 10
1492 43 W 0.2NC IDF dk 3 8 OW 2BW Oa 10
1492 44 W 0.4 NC IDF dk 3 8 OW 2BW Oa 10
1492 45W 14.3 (5.0) W1 IDF dk 3 10 OW 10 total wetland area = outline of 4¢
1492 46 W (9.3) IDF dk 3 8 SM Oa 2 MS 0b 10
1492 47 W 0.23 NC IDF dk 3 10 BW Oa 10
1492 48 W 0.2NC IDF dk 3 10 BW Oa 10
1492 49 IDF dk 3 7 DL 4 3DL 2 10
1492 50 W 1.75 (1.4) W3 IDF dk 3 10 OW 10 total wetland area = outline of 51
1492 51 W (0.35) IDF dk 3 10 BW Oa 10
1492 52 IDF dk 3 10 DL 4 10
1492 53 IDF dk 3 10 DL 1 10
1492 54 IDF dk 3 9 DL 4 1DL 5 10
1492 55 W 1.8 W3 IDF dk 3 7RS Oa 3 BW Oa 10
1492 56 IDF dk 3 8 SL 2 2SL 3 10
1492 57 W 0.5NC IDF dk 3 10 MS 0b 10
1492 58 W 1.3 W3 IDF dk 3 10 BW Oa 10
1492 59 IDF dk 3 10 AC 3 10
1492 60 IDF dk 3 10 AC 3 10
1492 61 IDF dk 3 7 DL 1 3DL 2 10
1492 62 IDF dk 3 6 DL 1 4 DL 2 10
1492 63 IDF dk 3 10 AC 3 10
1492 64 IDF dk 3 10 SD 3 10
1653 T™W 10.4 W1 SBS dw 1 6 BS Ob 2SS Oa 2 SK 4 10
1653 2 SBS dw 1 6 SD 1 4 SD 2 10
1653 3 SBS dw 1 10 SL 3 10
1653 4 SBS dw 1 10 SL 1 10
1653 5 SBS dw 1 7 SD 3 38D 1 10
1653 6 SBS dw 1 108D n 4 10
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1653 7 SBS dw 1 10 SD 1 10
1653 8 SBS dw 1 10 SL n 5 10
1653 9 SBS dw 1 10SD n 4 10
1653 10 SBS dw 1 SD 4 2SD 5 10
1653 11 SBS dw 1 8 SL 1 2 WR 1 10
1653 12 SBS dw 1 10DF s 3 10
1653 13 SBS dw 1 8 SL 2 2 WR 5 10
1653 101W 3.0 W3 SBPS mk 10 SS Oa 10
1653 102W 23.5 (18.4) W1 SBPS mk 6 SS Oa 4 BS 0Ob 10
1653 103 W (5.1) SBPS mk 10 OW 10 included in area of 102
1653 104 W 3.0 W3 SBPS mk 7 BS 0Ob 3 SK 4 10
1653 105 SBPS mk 7 SL 4 3SL 5 10
1653 106 W 9.6 W1 SBPS mk 5WS Oa 5BS 0Ob 10
1653 107 SBPS mk 8 SL 1 2 SL 2 10
1653 108 SBPS mk 10 DL 4 10
1653 109W 5.9 W1 SBPS mk 8 WS Oa 1 SK 4 1SL m 4 10
1653 110W 1.9 W3 SBPS mk 10 BS Ob 10
1653 111 W bl SBPS mk 5 BW Oa 3WSs Oa 2 SK 4 10
1653 112W bl SBPS mk 10 BW Oa 10
1653 113 W bl SBPS mk 6 BW Oa 4 SK 4 10
1653 114 W bl SBPS mk 4 BS 0Ob 3 SK 4 3Ws Oa 10
1653 115 SBPS mk 8 SL 1 2SL m 1 10
1653 116 W bl SBPS mk 6 BS 0Ob 4 SK 4 10
1653 117 SBPS mk 6 SL 5 4 SL 2 10
1653 118 SBPS mk 10 SL 1 10
1653 119W bl SBPS mk 10 BW Oa 10
1653 120W bl SBPS mk 10 BW Oa 10
1653 121 W bl SBPS mk 4 WS Oa 3 BW Oa 3 SK 4 10
1653 122W bl SBPS mk 8BS 0Ob 2 SK 4 10
1653 123 W bl SBPS mk 5BS 0Ob 5 SK 4 10
1653 124 W bl SBPS mk 4 BS 0Ob 3SS Oa 3 SK 4 10
1653 125 SBPS mk 6 SL 2 4 SL 4 10
1653 126 W bl SBPS mk 8BS 0Ob 2 WS Oa 10
1653 127 SBPS mk 10 SL 4 10
1653 128 SBPS mk 10 SL n 1 10
1653 129 SBPS mk 10 SL 4 10
1653 130 SBPS mk 4 SL m 4 3SL m 5 3 SK 4 10
1653 131 SBPS mk 10 SL m 4 10
1653 132 SBPS mk 10 SL m 4 10
1655 1TW 15.6 W1 SBPS mk 6 SS Oa 3BS 0Ob 1 WF 0Ob 10
1655 2 SBPS mk 6 SL m 4 4 SK 4 10
1655 3w 24 W3 SBPS mk 6 WS 0Ob 4 SS Oa 10
1655 4 W 0.4 NC SBPS mk 6 WS 0Ob 4 SS Oa 10
1655 5 SBPS mk 4 SL 4 4 SL 2 2 SL 3 10
1655 6W 0.56 NC SBPS mk 6 WF 0Ob 4 SS Oa 10
1655 7W 0.8 NC SBPS mk 10 BW Oa 10
1655 8 SBPS mk 6 SL m 4 4 SK 2 10
1655 9w 1.6 W3 SBPS mk 10 BS 0Ob 10
1655 10w 1.0 W3 SBPS mk 10 BS Ob 10
1655 11 SBPS mk 6 SL 1 4 SL 2 10
1655 12 W 0.4 NC SBPS mk 10 BW Oa 10
1655 13 SBPS mk 7 SL 1 3SL 2 10
1655 14 W bl SBPS mk 10 BW Oa 10
1655 15 W bl SBPS mk 10 SS Oa 10
1655 16 W bl SBPS mk 10 SS Oa 10
1655 17 W bl SBPS mk 10 WF 0b 10
1655 18 W bl SBPS mk 6 WF 0Ob 4 SS Oa 10
1655 19 W bl SBPS mk 7 BS Ob 3WSs Oa 10
1655 20w bl SBPS mk 6 WS Oa 4 BS 0b 10
1655 21 W bl SBPS mk 6 OW 4 BW Oa 10
1655 22 W bl SBPS mk 6 OW 4 BW Oa 10
1655 23 W bl SBPS mk 6 OW 4 BW Oa 10
1655 24 W bl SBPS mk 6 BW Oa 4 OW 10
1655 25W bl SBPS mk 10 BW Oa 10
1655 26 W bl SBPS mk 9 OW 1 SK 2 10
1655 27T W bl SBPS mk 10 BW Oa 10
1655 28 W bl SBPS mk 7 OW 3 BW Oa 10
1655 29 W bl SBPS mk 10 BS 0b 10




s g 25 =
o 2 s s 5 4 uwg ﬁ ﬁ - 5 3
° c 2 e Q= Ie) = 7 i N £ 2 ot
3 & § §A 5% goﬁ o %I o é% %I o ég %‘ o é% %
> 0o 2 = 3 = E = El ]
s ¢ = = 25 BE8| & SFF55 | & 53 Z58( 8 53 F5F |0 Notes
1655 30w X SBPS mk 10 BW 0a 10
1655 31W rhx SBPS mk 10 BS 0b 10
1655 32w rhx SBPS mk 6 WF 0b 4 8S 0a 10
1655 33wW rhx SBPS mk 9 OW 18K 1 10
1655 34 W rhx SBPS mk 10 BW 0a 10
1655 35 W rhx SBPS mk 10 BW 0a 10
1655 36 W rhx SBPS mk 10 BW 0a 10
1655 37W rhx SBPS mk 7 OW 3BW 0a 10
1655 38 W rhx SBPS mk 10 BW 0a 10
1655 39w rhx SBPS mk 6 BW 0a 4 OW 10
1655 40W rhx SBPS mk 6 BW 0a 4 OW 10
1655 41 SBPS mk 6 SL 1 2SL m 1 2 SL 2 10
1655 42 SBPS mk 10 SL 4 10
1655 43 SBPS mk 10 SL 4 10
1655 101 W* W1/W5  IDF mw 2 9 SH 0b 10w 10 *wetland is too large/long to map/digitize
1655 102 IDF mw 2 10 RD 4 10
1655 103 IDF mw 2 10DF s 4 10
1655 104 IDF mw 2 10 RD 4 10
1655 105 IDF mw 2 10 RD 5 10
1655 106 IDF mw 2 8 FE 0a 2 RD 3 10
1655 107 IDF mw 2 9RD m 5 1RD m 1 10
1655 108 IDF mw 2 10 RD 1 10
1655 109 IDF mw 2 10 CF 10
1655 110 IDF mw 2 5RD 1 5DF 1 10
1655 111 IDF mw 2 10 RD 5 10
1655 112 IDF mw 2 10 RD 5 10
1655 113 IDF mw 2 10 RD 5 10
1655 114 IDF mw 2 10 CF 10
1655 115 IDF mw 2 10 CF 10
1655 116 IDF mw 2 10 CF 10
1655 117 IDF mw 2 10 CF 10
1655 118 IDF mw 2 10 CF 10
1655 119 IDF mw 2 10 RD 5 10
1655 120 IDF mw 2 5RD 5 5RD 1 10
Wetland areas in brackets are areas of that polygon only and not the whole wetlan

***Photos are missing and wetland area still needs to be determined by digitizing the wetland




